3 (Sem-2) SOC (N/O)
2018

SOCIOLOGY
( General )

( Foundation of Sociological Thought )
Full Marks : 60
Time : 3 hours "

The figures in the margin indicate Jull marks
Jor the questzons

A}

_Answer either in English or in Assamese

( New Syllabus )
1. Answer the following qﬁeétions as directed :

(@) "Who used the term ‘social physics’?

Ww@mmmw
FRfE 2

1x7=7

(b) Who popularized the term ‘survival of
the fittest’ ?

‘e co1 PR Bttt I 2
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(c)

(d

(e)

(9)

8A/681A

(2)

“01:1r m.'jlin goals is to extend scientific
rationalism to human conduct ... what
has been called our positivism is but
a consequence of this rationalism.” Who
said this?

“O‘l:'lr main goals is to.vextend scientific
rationalism to human conduct ... what
has been called our positivism is
but a consequence of this rationalism_”
IR A (3fe 2

Who is the author of the book,
The Philosophy of Money?

The Philosophy of Money Se471 frawss
2

Write the meaning of ‘ideal type’.
‘Ideal type’ (S 2PR)T il {1

Write the name of a theory of social
change. |

IS ARG 9B OGN ey |

What is descent?

I Sy 2

( Continued )

(3)

2. Answer thé following questions :

T NPT T i

(a) Define social class.
A CI et it o

(b) What is ‘anomie’?
‘afymRmer &2

(¢ Mention the causes of class-conflict.
Rk FRPR a0 |

(d) Mention the name of two sociologists

3. Write short notes on (any three) :

who are associated with ‘structural-
functional approach’. N
RIATF-FHAGE AR O woe PR
TIErSGRT N a9 |

59 GG o (R et fofen)

(a) Features of social fact

I B /<6 PR

(b) Pattern variables

8A/681A

“RedTm Wik

2x4=8

5x3=15
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(4) | (S)
(c) Positivism (d) Critically discuss Althusser’s contribution
ST . ' to ‘Marxist structuralism’.
(d) Chicago School | TR A RS- AR e
o’ oo FRICATARAE S 10|
(e) Division of labour in society : () What is social solidarity? Analyze
e = Rerem the distinctions between mechanical
o | solidarity and organic solidarity.
. thr i 3 - [
4. Answer any three of the following questlori% : . ' TRT TS R AR RS WE &R
X3= .
ol AP R @ fofom Tew fmn 30 RIS &S AT AL el 40 |
(@) Write the contributions of Auguste (), Discuss in detail Auguste Comte’s
Comte as a classical sociologist. ' theory on hierarchy of sciences.
Wmﬁ? 9 .
;:T? .&smwr@as%q PR " TR I I ST o9l ITeR

HITOAT 41 |
(b) Critically discuss the theory of
‘class struggle’. ' :
‘it SRS Pram! TR Sges
1 o
(c) “An act is always a process in time, and
that the concept ‘end’ always implies
a future reference to a state (or
situation) that does not exist.” Discuss.

IR e wF Afdmn ARRE w1 S
qo1 R “REIFvT w9-cR Ry s
S B 9w AfeR SRS = 17 IR
AT ¥ |
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(6)

( Old Syllabus )

1. Answer the following questions as directed :

1x7=7

OO PP Aot SR Tee i

(@)

()

(c)

8A/681A

“Religion is the opium of the masses.”
Who said this?

‘ol TPTRR IR oo 2 SRR
I C3fRE 2 ®

Culture is the of man and medium
through which he achieves his ends.

(Fill in the blank)

TS T Ty — Rwme s Tz
TS TS =7 | N

(08 37 o 1)

is associated with the conc
of Social Darwinism. Pt

AR SRUIAIR YRR wi51@ s |
(i) Karl Marx /3w SR{
(@) Herbert Spencer/= TR

(iii) Althusser/ng
(iv) Habermas/cyRsrg

(Choose the correct answer)

(0% Tt 1Rk Shva)

( Continued )

(7))
(d The author of the book, Kinship
Organization in India is
Kinship Organization in India 283
forygem 2
() Veena Das
Qe 7
(i) Iravati Karve
TR IS
(i) Aileen Ross
AN ]
(iv) Nivedita Menon
fRafrer @ =
(Choose the correct answer)
(R Tesco! AR Bferean)
(e) There exist basically primary kins
in the society.
SIS oS AP e Fow SRR | -
(i) two/%R
(i) five/ s
(iii) eight/Wfo’
(iv) ten/™=R
(Choose the correct answer)
(o Ta3chl MR Sfersan)
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(8)

(i Who is the author of the book, The " 3. Write short notes on any three of the
Household Dimension of Family in India? following : 5x3=15

The Household Dimension of Family in oot fimn R e fefom AR | CoreT fora

India 2JEY4«9 IF (FA? (@) Palygamy

(g9 What is endogamy? TR
sefas 2 (b) Joint family in India
SREq QY AR
2. Answer the following questions : DxALa (c) Cultural diversity in India
o PP Oed e oY ATghes Riewel

(d) North Indian kinship
(a) Discuss two functions of family.

Teq SO ATl /TG
“{fRarer wol TR for<i |
{e) Secularism

(b) What is cultural lag? ERIEE &Ko)

egfes Poieafdel 2
() What do you mean by social evolution? 4. Answer any three of the following questions :

; i 10x3=30
AR [d e & gm2 oo 2P A celeel fofibr Tew fram

(a) Explain the impact of technological and
educational factors in social change. 10

egios RRIR 8°[© b1 5 B oy | e ARISTR CFqe e Wi (iR
FAFA AOA RAQ e 797 |

(d) Write a short note on cultural diffusion
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(/) Who is the author of the book, The
Household Dimension of Family in India?

The Household Dimension of Family in
India 2RIFF /5 (@2

(g9 What is endogamy?
L CHESIER TR

Answer the following questions : 2x4=8

(a) Discuss two functions of family.
AR 4O RS o o

(b) What is cultural lag?
ACFF *ro1eafe & 9

{(c) Whatdo you mean by socia.l- evolution?

(d) Write a short note on cultura] diffusion
ST RRR eorre b1 55 o forgy |

.( Continued )

3.

!
|

L
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Write short notes on any three of the
following : 5x3=15

tamsﬁ%nﬁiaﬂanﬁﬁﬁﬁa‘8ﬁ¢35§<3ﬁﬂﬁ#m:

(a) Pglygamy
AR

(b) Joint family in India
SRS QY AR

(¢) Cultural diversity in India
TR Ao Ricwel

(d) North Indian kinship
Tey TSRO NG /T

(e) Secularism

wffaeorwel

Answer any three of the following questions :

| 10x3=30
oo erpid R et fofbR e fran

(a) Explain the impact of technological and
educational factors in social change. 10

e RS (Fae Afere Wiw (i
AT 2SR RICA FCABH 341 |
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( 10 ) i (11)

(b) Define social change. Describe the () What is multiculturalism? Do you think
different processes of social change. 4+6=10 Indian society is a multicultural society?

. Examine critically. 2+8=10
TR RRER W fan | iR +RTER
RfSw aferarmg 3 w11 . Aegiam R SROR e 9@\ -
‘ L A e IR SR ORI 7 SR
. . . - Y- ﬁz‘gﬁ |
() What is kinship? How is kinship and i T

descent related? Discuss the basic rules o
of descent. 24+2+6=10 . e

W%?WWW.WW @ ?
IR 1 WM weemse 71 |

1} (d) What is family? Do you think that joint
family system has been disintegrating

at the present movement of time? If so
explain how. 2+’8=10

1 SR ? MW g
o R e gy T T

(e) Define religion. Discysg the functional
and dysfunctiona] aspects ' of relipi
in society. S 10

R .

le

g ."R@T faar TS g
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